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Exam 2, 8:40am
Linear Algebra, Dave Bayer, November 10, 2022

Uni:

Name:

(1] [2] [3] [4] [5] Total

If you need more that one page for a problem, clearly indicate on each page where to look next for

your work.

[1] By least squares, find the equation of the form y = ax + b that best fits the data
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[2] Find the determinant of the matrix
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[3] Find the inverse of the matrix
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[4] Find the 3 x 3 matrix A that projects R® orthogonally onto the hyperplane x +y + 3z = 0, with respect
to the usual inner product.
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[5] Find the 3 x 3 matrix A that projects R? orthogonally onto the hyperplane x +y + z = 0, with respect

to the inner product
110 T
[a b c]|1 21 s
01 2 t

D) 16 navmal R x49+2=0 usmg’fh?. vsa) det pradudk,
It ic nat nacmal 42 4he dane Usm%z 'S mer pedod:

< (a,b,c), (1,s,t) > =

We'll oh\\ vse. A=T- vy ﬁnme naimg).
- 0 G-l-ll[27_(0 2- |
G B e
—~— |01 2| |2 |
“w:nvg\i?\(es M\\qv—ﬁramn
(CK‘HIZ))(ZTII D> = [‘Z—l l];l ;—(l)“ ['{1( = [I \ l]Fi:'
01 2]|=2] kA
L2p ),V = (2 Q[ o]f2] = (v 1]fe] =
12 1] L—\\
ol 2|\
o <ouD ey " -
(XM,Z) — (2 -l l}
{2,027,V

g B - B
- | 2 |2 Lty

A= T-B = [1 ] [zzz] [0-22]
2 = |-t -1 = I 31
?_/2- t U /2 -1 /?-

} {ozz 01
=lo20] =|046
00'2-/ OO""
2

in plane &Rl
L plane For s wmen praduct

ek

[o-ze]
| 31
1-(1 /2'_

[
o)

l
..[
o-



